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Suggested problems. Set 3.

• Section 3.2: 2, 6.

• Solve the IVP

utt = c2 (uxx + uyy + uzz)

with the conditions

u(x, 0) = 0, ut(x, 0) = 1, |x| ≤ a and 0, |x| > a.

What is the behaviour of the solution at point (0, a/c)?

• Section 4.1: 1, 2, 5, 6, 9

• Section 2.3: 1, 5, 8, 9

• Section 4.1: 1, 3, 4, 6, 7, 8.

• Section 4.2: 1, 4, 7, 8.

• The potential of a mass distribution with constant surface density on a sphere is

defined by

u(x) = γ

∫
|y|=r

1

|x − y|
dS(y), x ∈ R

3, γ > 0,

Determine u.


